
Subject: 2 pi and PiAlign program
Posted by Paul on Sun, 14 May 2006 13:09:17 GMT
View Forum Message <> Reply to Message

the Qd value for the alpha 10 in the pialign data base that comes with the software is 2 but
according tot he emminence website qts is .59 for the alpha 10 and the Qd should be 1/.59 =
1.69.  When I plug in 1.69 into pialign I get a slightly bigger enclosure that the one in the 2pi
design.Why use a different QTS than what is provided in the emminence spec sheet?ThanksPaul

Page 1 of 1 ---- Generated from AudioRoundTable.com

https://audioroundtable.com/forum/index.php?t=usrinfo&id=726
https://audioroundtable.com/forum/index.php?t=rview&th=9841&goto=49462#msg_49462
https://audioroundtable.com/forum/index.php?t=post&reply_to=49462
https://audioroundtable.com/forum/index.php

